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Candidates must write the Code on the
title page of the answer-book.
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e Please check that this question paper contains 16 printed pages.

¢ Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 36 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this questmn paper. The
question paper will be distributed at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the students will read the question paper only and w111 not
write any answer on the answer-book during this period. .
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Time allowed : 3 hours ' Maximum Marks : 90
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(x) T & % ¥ eI 34 F 36 3 o JIIHE P W ARG -5 SF & T
FIead s anmaerel
General Instructions :
(i) The question paper comprises two sections, A and B. You are to attempt both
the sections. ' '
(i)  All questions are compulsory.
(iii) There is no choice in any of the questions.
Giv)  All questions of Section A and all questions of Section B are to be attempted
separately. ;

(v)  Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one senience. ) =

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each. '

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These are to
be answered in about 50 words each. :

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to
be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one
most appropriate response out of the four provided to you.

(x)  Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief. :

31/2/1 2
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www%mam%m@mmmm
- COOHZ |

Write the molecular formula of the first two members of the homologous
series having functional group — COOH.

%

qHEl T A JFAT] T IS IeqH KA A I 1 A fafew |

Name the organs producing sperms and ova respectively in humans.

3, wma ffda feedl & et & am fafag |

Name any two man-made ecosystems.

4/ﬁm%aﬁaﬁmwgfﬁwm@amwaﬁﬁﬁmwwml
%aﬁ@mmaﬁw(m)aﬂ?mﬂqaﬁw(m)%ﬁmﬁﬁﬂl

&M

Redraw the following diagram on your answer-sheet and show the path of
the reflected ray. Also mark the angle of incidence (£ i) and the angle of
reflection (£ r) on the diagram.

5 mﬁﬁeﬂwﬁﬁ%ﬁ%m@ﬂ%wwﬁqu@m@ﬁﬁ?sﬁmm
W o iR | 5T At B wiE g feew gEmT |

Mention three harmful effects of using polythene bags- on the
environment. Suggest an effective alternative to these bags.

31/2/1 ' 3 - PTO.
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“Burning fossil fuels is a cause of global warming.” Give reason in
support of this statement.

I 2 STEftETERl B T faRaw R Iud Uewiglal B vl § w9idd
F@ F B smar 2 1 () Torenw wherr, SR (i) 91T TRGNE FEHE & €T
At 3 STuR W uaEle 3 wuwiEs I % o ade $ie | 3

Name two oxidising agents that are used for the conversion of alcohols to
_acids. Distinguish between ethanol and ethanoic acid on the basis of
(i) litmus test, and (ii) reaction with sodium hydrogen carbonate.

| 8 Wéﬁ@mﬁq%ﬁmmﬁ%%%ﬁ?qa‘r C4+ SR ST el 2
3R T & C4— oI =1 Hehdll &, qﬁﬂgﬂgﬂ:ﬁﬁﬁaﬁﬁmm%a‘rﬁgﬁé;
FETE B & i Rt et e o e e B R | -3

Explain, giving reason, why carbon neither forms C* cations nor
C*~ anions, but forms covalent compounds which are bad conductors of
electricity and have low melting point and low boiling point. '

y foreft omrad amoft & el o affetor % T g gemE it ga # W
| HEA W A 3G G A S g 7 g med |t § 6) R

IEd § 9% IR ¥ R AR IR W, o (i) frft o § s A R 9 w
a1 aifcass we frm yeer uiafda gar 2 2 o Iudl 6 S afea g
Hif | , 3
Why is atomic number considered to be a more appropriate parameter
than atomic mass for the classification of elements in a periodic table ?
How does the metallic character of elements vary as we move (i) from left
to right in a period, and (ii) top to bottom in a group in the modern
periodic table ? Give reasons to justify your answers.

W10 freft e Y v He 2018 | * ! i 3
(a) wmwﬁmmmmmﬁmﬁmu
(b) T U A UG R U UG ?
(© 397 ¥ Feinss o g Rl |
(d w1 g8 o Mg (WH] @@ 12) i gedn # it sfifeasia @
AU FA SAHIHARM ? A I it FroT Afed g Hifv |
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The atomic number of an element is 20.

(a)  Write its electronic chnﬁguration and determine its valency.
(b)  Isit a metal or a non-metal ? -

(¢)  Write the formula of its chloride.

(d) Is it more reactive or less reactive than Mg (atomic number 12) ?
' Give reason for your answer.

Vﬁﬁﬁ%%&mm@ﬁ%?‘ﬁmnﬁﬁﬂaaﬁmﬁmm
TEA W 3w § 17 30 %o i g e e i wera & Hif | 3

How do variations arise in organisms ? “Variation is useful for the
survival of species.” Justify this statement with the help of an example.

\_12/ e 41 2 ? TRt w Sfa o samrr Gt st gm wfsen @t utar @ sl
< TS e S i Bl T gt R | o e Sl § qreewe Wi A e 2 3

What is regeneration ? Give one example of an organism that shows this

process and one organism that does not. Why does regeneration not occur
in the latter ? _ s

13 nﬁﬁﬂaw%?ﬁﬁ’faﬁfﬁﬁ%ﬁmﬁf@msqﬁfﬁ?ﬁwmm
GREm & e 3t Ty oy §9 4 fhe R gwild w2 R
A forgai =1 Seere i | 3

What is contraception ? Name any two methods. How does the use of
these methods have a direct effect on the health and prosperity of a
family ? State any three points.

%aﬁa&vﬁwq&:mﬁﬁqﬁqmmﬁnwﬁuﬁamﬁﬁ%mmw |
%ﬁﬁﬂﬁm%qﬁﬁaﬁﬂﬂﬁmﬁﬁﬂﬁl xS 3

Give an example of the characteristics bemg used to determine how close
two species are in evolutionary terms.

15, Bt 7§ whiie % g #f warw Feedt A B A SR SR

=1 Yftert =1 39 foavg # 3gw Fifs | 3
List any three factors and mention how they could lead to the rise of a
new species,

31/2/1 | 5 ~ PTO.
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The magnification of an image formed by a lens is —1. If the distance of
the image from the optical centre of the lens is 25 ¢cm, where is the object
placed ? Find the nature and focal length of the lens. If the object is
displaced 15 cm towards the optical centre of the lens, where would the
image be formed ? Draw a ray diagram to justify your answer.

Ry s &t geErEe & e Hif fop agreeta stada fRe wew 1fim yate
3R focifaa gt 6t aREet & foru sorert B | 38 qiEet & SrRo g2
f& it sraftr § fopamn ot €1 e 8 2
With the help of a diagram, explain how atmospheric refraction is
responsible for the advance sunrise and delayed sunset. How much time
difference does it cause on the duration of day on the Earth ?

8,/ W ATAA hf WeT & U7 WY f 7 st % @ (5@) wht F g s
TRH B & | U {7 381 aammrus # 98 ve1 % anin § sudsy 5o
VST % Fal b W A $O W a6 WEHFAN 9T ¢ | 3 THIR 98 AFA A

TR, FEifs dewret gaR ey & fau i e §

(a)

(b)

T A AIATSH 1 BT TSHARTT G Feil & Wi Ggia HET
TFE TR gmEma 2 '
wmm%%wgﬁmfﬁmﬁmmmsﬁﬁ%wff
TR ek Hiwd B I 8 ot um W & i g W sEn 3 @y
Hfered e B wgE # | @ wRuen w1 Am s 3w R A
Rl _

Your mother always thought that fruit juices are very healthy for
everyone. One day she read in the newspaper that some brands of fruit
juices in the market have been found to contain certain level of pesticides
in them. She got worried as pesticides are injurious to our health.

(a)

(b)

311211

Download from:

How would you explain to your mother about fruit Jjuices getting
contaminated with pesticides ?

It is' said that when these harmful pesticides enter our body as well
as in the bodies of other organisms they get accumulated and

. beyond a limit cause harm and damage to our organs. Name the

phenomenon and write about it.
6
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What are esters ? How are esters prepared ? Write the chemical equation
for the reaction involved. What happens when an ester reacts with

sodium hydroxide ? Write the chemical equation for the reaction and also
state the name and use of this reaction.

20 UHferft S vrfertt qudt <h1 Th-uF ST v | g # A 9 e &
A YR F o9 fade A | o g § w9 s wre B suge afdem
T U W11 R ? SRE § i i a6 2 areft geredt % ar #§ fafw | 5
Give one example each of unisexual and bisexual flowers. Differentiate
between the two types of pollination that occur in flowers. What happens

when a pollen lands on a suitable stigma ? Write about the events that
occur till the seed formation in the ovary: '

glj/sﬁamaﬁnéﬁ%?aﬁmﬁmmaﬁ%aﬁtwﬁmwﬁwm
TR T STt 8 739 faehE & ore § el S e w seew i | 5

What are fossils ? How are fossils formed and how is their age
determined ? State the importance of fossils in the study of evolution.

| 22 vt i 3 v e o) 5 e Rl () S e o e
Tfafag Seor arferent =1 fagervor R ot aiwem fre fmr € Bkl

Tl & W A . -5
EL fraght wafera-gh

& | u(em) v (cm)
- 60 +12.
2 - 30 +15
3 -20 +20
4 - 15 + 30
9 -12 + 60
6 - =9 - +90

(@) I o B g P & 2 ore e S R o A |
31/2/1 T P.T.O.
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Analyse the following observation table showing variation of

image-distance (v) with object-distance (u) in case of a convex lens and

answer the questions that follow without doing any calculations :

S. No. Object-Distance | Image-Distance
u (cm) v (cm)
: 1 - —60 : + 12
2 -30 +15
3 _20 +20
4 -15 +30
5 -12 + 60
6 -9 + 90

(@)  What is the focal length of the convex lens ? State reason for your
answer.

(b)  For what object-distance (u) is the c'orresponding image-distance (v)

not correct ? How did you arrive at this conclusion ?

(¢) Choose an appropriate scale to draw a ray diagram for the
observation at S.No. 4 and find the approximate value of
magnification.

2”@ sl ol 3 e ) ) T A

317211

Download from:
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(i)  FhaT Hg

(i)  ear B
- (iv) H=F ¥

(b) (i) Fdw guw, aﬂt(n)maﬁ%g@mﬁmﬁ%mw
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(a)  Define the following terms in the context of spherical mirrors :
(i  Pole
(1) Centre of curvature
(iii) Radius of curvature
(iv) Principal axis
(b) Draw ray diagrams to show the prmmpa] focus of (i) a concave
mirror, and (ii) a convex mirror.

(¢) - In the following diagram, MM’ is a concave mirror and AB is an

object. Draw on your answer-sheet a ray dlagram to show the
formation of image of this object.

G F ;

24 @ e o ¥ et e v Rk

@) i

i)  oRaiEs

Gi) B (sfre)

(iv) gt ufemi '

(v) e .
31/211 ' _ -9 , : P.T.O.
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(a)  Write the functions of each of the following parts of the human eye :
(i)  Cornea
(ii)  Iris
(iii)  Crystalline (Eye) lens
(iv) Ciliary muscles
(v)  Retina

(b) A person is unable to see distinctly the objects closer than 1 m.
Name the defect of vision he is suffering from. Draw ray diagrams

to illustrate the cause of the defect and its correction by suitable
lens.

RS IR
SECTION B

- 35¢ Pl wmh % e § A fra i arg w A R o g & 2

31721

Download from:

(A) i = 97 R Feaan wEeiase
(B) WUS HI d1 IR Hifeam TRgiwmse
© whist e s Ao aEeiaEEe

(D) ¥ 1 9 R Afifirm T

Which one of the following sets of materials can be used to prepare sc;ap yd
(A)  Neem oil and calcium hydroxide

(B)  Castor oil and sodium hydroxide

(C)  Mineral oil and sodium hydroxide

(D)  Neem oil and magnesium hydroxide

10
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(A) NaClL NaQSQ4; KC1

(B) NaCl; CaCly; KCl

(C)  CaCly; CaSOy MgSO,

(D) Nag80, CaSO4 MgSO,

You are asked to prepare hard water in your laboratory. Select a group -

from the following groups of salts, any salt of which you may dissolve in
distilled water to obtain hard water.

(A)
(B)
(C)
(D)

NaCl; NagSOy4; KCI
NaCl; CaCly; KCl1
CaCly; CaSO4; MgSO,
NagSOy; CaSO4 MgSO,

ﬁ/ﬁm?ﬁﬁwﬁﬁ@maﬁéa:{Wﬁwmﬁmm

et si i @ fagw 1 welt-wife Rad ot 3o o % e 38 ToEE
%mﬁm%mm-mmi,awsﬁwmwwﬁwzﬁﬁ? Z
@) e s T R e 71

(B) 1 &y wEel I Tehl W s @ § | . ¥
() el & TEF i ¥ goae T @ |

(D) TETe § s, T URE freT T R |

If you take some distilled water in a test;tube, add an equal amount of

acetic

acid to it, shake the test-tube well and leave it undisturbed on the

test-tube stand, then after about 5 minutes, what would you observe ?

(A)
(B)
(&)
(D)

31/2/1

Download from:

There is a layer of water over the layer of acetic acid.
A precipitate is settling at the bottom of the test-tube.

Bubbles of colourless gas are coming out of the test-tube.

There is a clear, colourless transparent solution in the test-tube,

11 P.T.O.
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(A) a1 B) e 1

(©) %@ I ik IIp (D)  eel I sic v

Choose the correct statement(s) on buddjng in yeast from the following :

5 A parent cell divides into two or more daughter cells and here the
parent identity is lost.

II.  TIn this the elongated nucleus divides to form two or more daughter
nuclei. -

II. A bud arises from a particular region on a parent body.

IV.  After detaching from the parent body the bud grows into a new
independent individual, _

(A) Tonly : (B)  IIonly

(C) 1II and III only (D) I and IV only

Frferfaa # & wwstia o7t =1 w=w gfi -

(A)  =HEE % 9@ IR foaeh F @

(B) e % W 3R THEE F ug

(C) foaelt & v@ it wem & v@ |

(D). &% % WM, T % I AR Buwel ¥ 3972

Select a set of homologous organs from the following :

(A)  Wings of a bat and wings of a butterfly

(B) Wings of a pigeon and wings of a bat

(C)  Wings of a butterfly and wings of a pigeon ;

(D)  Forelimbs of a duck, forelimbs of a cow and forelimbs of a lizard

12
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_An optical _devioe has been given to a student and he determines its focal
length by focusing the image of the sun on a screen placed 24 em from

the deviee on the same side as the sun. Select the correct statement about
the device.

(A) Convex mirror of focal length 12 em
(B)  Convex lens of focal length 24 cm
(C)  Concave mirror of fo-\cal length 24 cm
(D)  Convex lens of focal length 12 cm

y I % TG A TR el S R w5 gy RfEq T F fon Pl 4

| e T sEwe g _ 1
I IT - 111 ' v
A 1
(B) II
(©) I
D) IV
e . 13 | P.T.0.
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Select from the following the best experimental set-up for tracing the
path of a ray of light through a glass slab :

1 | I 1 v
A) I
B I
(C) _ III
D) v

3yﬂw%mmﬁﬂﬂ-ﬂﬂ?ﬁwﬁaﬁaﬁaﬁmm{§?

@) i B) FaasidR A
©) i, Zr3W LA ' M) Zi, ZAIR LD
In the following diagram, the correctly marked angles are

@ Al ' (B) OnlyZiand ZA
€ Zi,ZrandzA D) Zi,ZAand ZD
3121 14 '
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 (A). J B) L
©)- F D)
i . AN

When you focus the image of a distant flag, whose shape is given below,
on a screen using a convex lens, the shape of the image as it appears on

the screen is

(A) B)

(©) F D) |
‘ | AN

31/2/1 _ : 15
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B) R 3y wH wETel § uh geehl BN FEENA FEE 8sl Ao
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(A) If you are asked to report your observations about the following -
g two properties of acetic acid, what would you report ?

(i)  Odour
(ii) Effect on litmus

(B) If you take a pinch of sodium hydrogen carbonate powder in a
test-tube and add drop-by-drop acetic acid to it, what would you
observe immediately 7 List any two main observations.

AR ‘G % S & gy F I aei B vgEE w7 S 9 w5 R
ATYH T AT T arelt sk &1 auiq Hifvm | 2
You have to perform the experiment, “To identify the different parts of an
embryo of a gram seed.” Describe the procedure that you would follow.

?9/- aﬁ'a%mﬁaﬂ45°%mqﬁmﬁammwwaﬁ%ﬁ
HIR | e =i, ﬁhaﬁwﬁrt@aﬁgﬁﬁmﬁwﬁéﬁmﬁwﬁaﬁ
Tereemam Y w9 fafiaw | | 2

Trace the path of a ray of light incident at an angle of 45° on a
rectangular glass slab. Write the measure of the angle of refraction, the
angle of emergence and the lateral displacement suffered by the ray as it
passes through the slab.

31/2/1 | 16
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